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~ Question Nos 1 to 100 have four optzons, _out of whzch only one is correct.

Answer any 50 questzons You have to mark your selected optzon on the |
_ ‘OMR-Sheet & ’ 50 x 1 =50 -
BT ¥
1. g T UH ;

A WEEEer . (B) - IERE HEA

© TiwwEEem - - (O sﬂﬁ@rﬁéﬂﬁ

| —‘/8—_1- is

2
(A) -~ a rati\dhal number - | (B) ‘an irrational number
(C)  an integer e JR '((D)‘ ~none of these

2 192 Wwﬁzaﬁr Eﬂﬁrm"am% 2

-
;
;\f\“

] (A) | 2 G (B) 3\ .
e 6 SV o 8T 4

What is the exponent of 2,in. prlme factonzatlon of 192 ?

=
v
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@ 2 s :.\(B) 3 3\3/
© 6 i 3
[1101-(21/30) Pége 3 of 48

Scanned with CamScanner




oo T e
1z — BX%+O aae
12 = b 40 [110]
B N2XTe l
3. ﬂ%“ﬂ@ﬁﬁmd=bq+r,ﬁa=7‘_2,q_=8?f?ﬂr=‘0€},ﬁ>fbaﬂq]=r.
1 BT ?
N L B 8
€ 7 S - D) 4

If in division algorithm a=bg+r,’a=72,g=8 and r = 0, then what is

the value of b ?
w o . ®. 8
© 7 - DO 4

frefei 4 Fween oo TR WA 7

2 - 1
IR o B 160
(€ E ] j(D) % \

Which of the following has terminating decimal expahsion ?

2

.(A) T (B) 11T1
17 |

© i o




6.

: 110]
If [
qis a posmve mteger which of the followmg is not an odd positive
integer ? : :

A) 8g+1 ¢ it B Hi g
©- 8g+3 = (D) ‘8q+7‘

a’f_aﬁraw T mgamﬁ T o goa'-r'ﬂ%

\9/ 2 4 i D) 4

The HCF of two Consecutive event numbers is

£ R AU T - L

9 2 D4

Wqﬁﬁamﬁtwmmwaﬁﬁmﬁ% 2
(A) WE@T -' (B) mﬁﬁqm

()  wga we (D) FHIARET
The sum of a rational and an i:rational number is whic;h type of
number ? |

(A) An integ;er A(B)r . Irrational number

(C)' Natural number (D)  None of these

3> 3k 3Rl HCF 17 ¥ @ ST LCM

| g} el T O 8670
g 7
85
() 102 (B) |
© 107 _PL~ 310
— 1101 [MoLema] Page 5 of 48
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| 4 their HCF is 17. What |
The product of two numbers is 8670 and thetr HCF is 17 a ‘13

iheirLCM? | o
@A) 102 B &
(C) 107 @ 510
frferfaa o @ i TRAT WO E 2 |
e B JBE
; ) ,‘/49+49 e (D) 436+36
_ Which of the following is a rational ri'umber ? : \
A4 J6a+36 B J25+25
(© "-'/49%49 e (D) /36+36
101 af 130 = 15 x 8+ 10 TF 15 = 5x 3 + 0,7 Ho Fo (130, 15 ) &
@A) 8 ®). 5
©c 130 B 2 L
£130 = 15 x 8 + 10 and 15 = 5 x 3 + 0, then HCF ( 130, 15 ) will be
w 8 ., - & 5
) 130 rE | (D) 15
11, AR plx)=8x%+x% 42045, qlx)=x+2x+1 § W R o A
Tl ST T 2
. R B 2
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12.

If p(x)=

[110]

3x3 4 52 . S '
J.C -H.c +2x.+5, 1s divided. by q(x)=x2+2x+l, then the

~ degree of quotient will be

@ 1 .

@3 v m e

2

Rl g.(x.).=3x2:—7x+2 Bl g(-) AT

© -12 o o

—

. If polynomial g,(x)=3x2‘—7x+2, then the value of g (—1) is

b‘(A)_ -8 iy T ® 12 e | \
© -12 o o
13, TEHE x2-16 F LIR E
\9'/*'4”4-‘, (B) +4,+4
c =4-4 ' (D) Wﬁﬁgﬁéqﬁ
: 2 .‘ '
The zeroes of the polynomial x -16 are
A) +4, -4 B)  +4 44
‘ .,(j)(> 2,7 \ : ‘ . ‘ = ) )
n i Ve ‘ | i
A~ 53 : o 5 ‘.age70f48\
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AN

‘ R EUCE [110
14, o T p(x)-—fxz\—3x+5‘$w o AT B, Al 4(a+a)aﬁrm:f%_]
12 @) 12 "
| (C)M 20 - | | "~ (D) '.'__'20 |
If & and s'are zeroes of the polynorr‘l'ial. ,;(x)_:xz —,éx+5, then the
value of 4(o+p) is e 8 :
& 12 B 12
B o _ o D). -20 |
| 15. A% WS x2—9x'+-2a %'Qﬁﬁwwsa’r,a‘r:awmm.
' @A) -4 o (B RPN |
g 9 - DO -9

If the préduct of ‘zeroes of a polynomial x%-9x+2a is 8, thgn the

valueofawillbe
I ST ® -4
© 9 D) -9

16, 7 TG p(xlwww—lﬁ,a’rp(xm@m@m

a) x-1 . -~ (B) x_+’ 1
_ | | 1
© = O 33

If one zero of a polynomial p(}c] is - 1, then a factor of p(x) will be

A) x-1 B xt1
L 1
/ N 1
; 1101-(21/30) : ~ Page 80
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ﬁm&af@ﬁﬁ@mﬁwa‘wé?wamaﬁ—swwm-

17,
quﬂth’ﬁ 2% ?
. L
C(A) X7 +3x+2 B)  x2+2x-3 '
€ x%-3x-2 D) x2-3x+2
Which of the following quadratic _polynomials has sum of zeroes — 3 =
. and product of zeroes 2 ? ‘ : _ s N 3
1 . 7 ' . _: /
(A)  x*+3x+2 - B) - - x?+2x-3 «+B -0
(C) - x*-3x-2 "(D)_ x2—3x+2 . 0 Z T
18. AR a,B %rma‘agcra' ax® + bx AN, %Wa o o By BT
. SR ' - . = &
_EﬁTﬁ o 2 . ‘ : . _ . ‘/ \ L - % -
b - e B | - c
A) = o (B)
A 7 a ] ,Q}.)
e -4 (D) % - ;
V @ ' Cz = 1
If o,B,7 are zeroes of the cubic. polynomial ax® +bx? +c,jc+d=0 , then
the Vaiue of o B yis
c
w 2 B g
c
© =2 P g
19, wyg (y?-3y+1)- (y° -4y° +y?+3y) AT HT &
#) 6 B 7 S
n)y 4 s
T : Page 9 of 48

1101-r.502/502(86)

1101-(21/30)

W)

Scanned with CamScanner



S

CETAN : - [110)
The degree of the polynomial (y?_-3y_+1) (y —4y +y? +3y) is

(a) 6 ‘ i g w (BT

@ ar S D),

1 | 20. ?IF{ 3x-2y=12 T8 4x-5y=16 &,

0 —x=4yt0 B x=0,y=4
| ! ! ' 4 ; ) ) ) & O .

Q) ‘x=4,y=2 D) x=1,y=10

If 3x-2y=12 and 4x-5y=16, then
@  x=4,y=0 B) x=0,y=4

\w) X=d4y=2- D

2L awwwaa@ﬁaa&mm%mmwwmp

[ umfwv, ® e

| o © Wﬁﬁﬁ%ﬁ‘ R .(D)v T ¥ ST

: If the graph of two linear equations is coincident lines then how many
L . ,' _ solutions do they have 7.
: /);’ . " (A) - One solution

- (B)  No solution -

(C)  Infinitely many S(Slutions.
j (D) None of these

X ——
1101'(21/30) . Page 10 of #
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R 2 y-3-= 0@12x+7y 5= o%aﬁ@ﬁmuwﬁmw

ﬁmqéhﬁ?

WWW B WW@T@

L/HEE’E“WW%@TQ O FHIFET
The gr aphs Of equatlons 2%~ Y- 3 0 and 12x+ 7y -5 = 0 are which
type of stralght lmes ? '
(A) Commdent straight lines. (B) - Parallel stréight lines

- (C) Interse’cting straight lines (D)' None of these

' .23.”..‘x—y_=0_$f WWWWW7

(A) 37 % W : T
o S B L N.L(B}_/.ys‘ﬁ&T%WIFIT.

TSR D), T W
Which type of straight line will be the graph of x— y =0 ? |
.+ (A) ~ Parallel to x-axis - (B)  Parallel to y-axis

( (C)  Passing through origin (D)  None of these

:24. Frtferfiat 4 % it femer odcor 3 ?

) (x+2) (x-2)= £2 - 423 9/"(.k42)2'=§.(x+4') |

(©)  (24%+3) = (5+x) (2x%~3). (D) 2x+§=@1x9 |
’\x . ' ;,)\, . o :.' ‘ i
e BT 01-(an/30) | - - " Pagellof48 . §
L SLNCE S e
N L

.- N -
N SR 9 g : NS " . : “ 5 4
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Which of the following is-a_quadratm c;qua’apn :

fei o .
(A) (x+2)(x—2)'=x2-4x3 B) (x+2) —3(_x{r4)

0 x +Am=Ax?

(C) (2x +3)-(5+x)(2x —3) (D) - X
| 25, a%@:ﬁ%rwzx +px30$rQ$% 36’ra’rp$rﬂﬁﬁm
W 3 | ~(B) 5
© 4 . D6 S
a '&\)L If one root ’of_thé eqﬁatiori_“Q{xQ +"px—3=0 is — Sfthe,n the value o
| v : Tt = . .
], o F PR G R A TR
o~ vo@) .3 ,"'l""'(B). 5
g/ (©)s Ao, e F L Sl el AD) 278,
Ny -
Q26 mmmaﬁa@mm 0x? +3kx+4=0 %%mﬂﬁ'

| 'aﬁww%’ 2 | |
LB x4 e B =7
‘((;l)'»i9 D 6
For what values of k the roots of ~the Iquédratic equatic

9x? +3kx+4=0 are real and equal ?

B x4 | B 7
(C) %9 | D) £6
1101-(21/30)| - 7. Page 12 of ¢
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?ﬁ\' x2+3px+2p2=0 %WG,B =l e a?+ﬁ2¥5 g, l p HTAF G
(&) £3 B) 2
© 1 D) 5
If o, B are the roots of the eQuéti-on x? +3px+2p2 =0 and «? +B2 =95,
then the value of p is
(4) %3 (B) +2
€ +£1 o (D) %5
- 28. i\QV’El[ﬁ HHHTOT agp?x_g—q2=0 aﬂ“:ﬁ'ﬁ‘}
2.2
a =L B =
q q
> )
*q__ : oo D g
© 5 i @
| . : % 2.9 -3
The roots of the quadratic equation a“p“x*-g%=0 are
2.2
w LD ® =
q°
2
q
c 4 o
(C) ap (D) ap
R
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3T BN
AL—3:10 B) 3:25
) '3 50 (D) 5:3

[110]'

%mﬁwﬁwx ~15x+50= o%@%ﬁ@ﬁ*?ﬁcﬁﬁﬁ

The ratio _of the sum of the roots and product of the .;Oqts of a

quadratic equation x% —15x+50=0 is

s

P

A) 3:10 S (B)
(© 3:50 . (D) 5:3
a0 af e ST % W -5 TE - 1§, ot R FHwOr &
(A) -~ xé+'6x+5=_0‘-‘ : | (B) x2-6x+5=0 |
/\\ ) | ' | - .. .
é'k\/‘ : 2 e | S c 2 S
g (C) x“-6x-5=0" (D) x +6x—5;0_
S S
s //0( If— 5 and — 1 are the roots of a quadratic equation, then the equatior
N - . ;
,,/\_,X will be
, f
3 (A) x2 +6x+5=0 3 _ (B) x%2-6x+5=0
/\ ) ‘ - i
3 vid (C) x?-6x-5=0 (D) x%+6x-5=0
31, T WHIEOT 2 4 4x+b=0 1 I &
\}P 16 - 4b o (B) 4b-16
© b*-16 D) 16-b2 |
o ofl
1101-21/30) Page 14 0
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LN ‘ A [110]
? A x?+3px+2p” =0 % 7 o, p & o a®+p=5 &, o p FT A
o xS B 22
CI T | ‘ D) x5
I-f o, P are th; roots of the eqﬁatibn %2 +3px+2p?=0 and «?+p?=5,
o theh the value of p is
tAi_ ‘ f_3.‘. i ey B s2
@ EIN X D) 45
% | Wﬂtﬁw _agp?)x?;c‘f:o éﬂﬁaﬁ

]

(@A) 12’ T B 2
' ‘q : Tk q
P IR
() N ‘ (D) iEq'"
e ap - ‘ P
The roots of the quadratic equétion a?p?x?-g%=0 are
R R B
q
2 T q
© L I -
ap p
\ . ) . | el \
| [1101-(21/30)| . Page 13 of 48
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T R T   '[110]'
oo WO+ — 15x+50=0 F el @ WQ—E‘ FURY L

(R
|

A —3:10, (B 3:25

i : (€ '3:50 | D 5:3

The fatio‘of the sum of the roots and pfoddqt_of the roots of 2

it

quadratic equation x* —~15x+50=01is = ' P

s R
w 3:10 . (B 3:25 LBAY T

MQ"‘%HS:Q; B x%-6x+5=0
€ - x2-6x-5=0- - (D) x®+6x-5=0"
&/ If ,—‘ 5 and - 1 are the roqts -‘o.'f a qﬁédra’tic equation, then the equatior

will be s
(&) x*+6x+5=0 - (B) x*-6x+5=0

(€  x?-6x-5=0 D) x*+6x-5=0
31. foend Wl x2 4 4x+b=0 F fww &
o 16-4p . (B) 4b-16

© b-16 D) 16-b2

_‘ v 1101-(21/30) Page 14 of 4
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K

! ; 3 m V/' N\O o
g 3 - - | W o

|
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(A 04, 0:44,0-444, ... (B) 1,11,111, ..

33,

‘[110].

| The ‘discrjminant of quadratic equation xzv +4x+b=0 is

(&) 16-4b = (B)  4b-16

g

©  bp*-16 O 16-b2

5p. - frEATE B B Ao SR H T 2
@A) 04,044,0444, .. (B) 1,11, 111,..
. (C) ; 729 4’ 8, ]-6, (LRI :._, T : L/(D}/O,,h 4:‘_8; - 12: .o

| .Whic_hHOVf the 'foliowving are in AP, ?

O
€ 2,4,'8,.‘,16,"-- A o (D) .0, -4, _ 8, - 12, ...

W N - - et

A . VIR D 243

.

The common difference of an A.P. V18, J50, V98, V162, ... is

R T T -

© 3 | . D) 2B 2\%/
b | o -
%4, gER 39t 2, 5, 8, 11, ... 1 113 U FET 2 "%
(A) 24 (B) 30 o \
2 -
. | e At ke
. (C) 32 (D) 14 1[)' s -'_]
; 1101—(21/30)| Page 15 of 48
7t Can = C“er\:\)\%k}
a‘“//’aV/V an - %)\’i\ NG
A PR P VR G
N ™ il AT S
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35.

36.

- 37.

, | | | (110,
B hatis the 11th term of an A.P. 2,5,8, 11, ... ? ‘

a) 24 B) 30

() 3 (D) 14

aﬁ'?&s‘\ﬁma@%ﬁnﬁm8n—2%?,-ﬂi'3ﬂ>§?.3“r$rmasﬁtrqm
@ 54 e l(B) B0

© 30 M D). a0

If nth tevrm. of én‘A.P. is 8n— 2 thgfi”i7th te':.rm of the A.P. is

@) s4 e T ey vse

© 80 . . @ 40

ot et TR 88T T @y by, =50 &, At St 1 HIe SR B

w 4 o~ ® (15

-\

© s LT Dy 10

If in an A.P. aso‘—ag’o.-—-‘ 50‘ then the common difference of the A.‘P.Vis
A 4 B/ 15

© 5 D

G (2x-1), (3x+2) 0@ (6x— 1) hdl THIER A & d FAEE T

%, € x 1 A B

(A) .8 (B) 2
110121730 _ Page 16 of 4¢
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38. WﬂT‘ﬁ‘rﬁz 6 10, 14

39. WHIT #el 72, 63, 54; ...

I (2x-1), (3x+2)and(
AP, then the value of x is

w3

o 4

' The number of terms in an A.P. 2, 6, 10, 14, ...

G "

B

I(C.) ..\_T :,;‘20_ .

Which term of the A.P. 72, 68, 54, .

(A)  8th

(€)  10th

40), 1‘%47{;\3'{131.'(aC()SO,O)H?ﬂ(O'aSino)a;?hﬂﬁ@%

(A)  «a

(€ 3a

'.JoL =i 3/12/?"5-

PRSI

szﬁqa‘rﬁ@r@ﬂ% ST X % N

g .E’/(Br)/21 Le o 'X\:{\

5 \9/96“

6x-1 ) are three consecutlve terms of an

D) gyl e
,_82 is
B 21

D, 22

wﬁﬂrwqﬁmﬁ% ?

D) 11
is zero ?
(B) . 9th

(D) 1lth
B 2a

(D) 4a | AN :

Page: '17 of 48
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, [110]
Distance between the points (acos 8, 0) and (0, asin 6) is B

a) a o B 2a

© 3a 0y D 4a

41, ﬁ_ﬁ'.( 15,8)@%%%@{&@%?
i, o w15 ; - B) 16
T e i s,
What is the distgncé .ot.'ipoint:.( 15, 8) from the origin ?
@a). 15 “® 16
RN T e
I a2 e y = ox- o oo B B By 4 TR 7

w22 @ (41)

© 34D (57
, . | The graph.of the straight line y = 2x - 3 pasées through which of the
i o following points ? | 7
@ (2,2) @ (41
| © (3,4) D) (5,7)

x.aquagf%@'ﬂﬁ'ﬁﬁ(mz,omd(a,m @ww%”f,%_'

®)  (0,2) B (2,0)
© (3,0j O  (0,3)
ll 10 1-(21/30)] : Page 1‘8_:3—fz
Y]

N
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- ﬂ _The point on x-axis which is equidistant from the points —[21: 10 )]
~ and(6,0)is
(_A)‘. (0,2) B (2.0)
_(C'l"_(.SsQ)_, . D (03)
44_ | y-é:f&?ﬁ%ﬁ' ( 13,/15l.)a%§{°r%\"’
(A)-li3 Koy IYI.LA(B;/15
s O R T R e s (D) 28

" The distan‘cg of the point ( 13, 15) from y-axis is

LR gt
o 2  '  D) 28

45%11%@?%6&1‘@%?@%%@%(- 10;6)_{1?IT (6,-10)Ed T F

@ (—‘8,'—:8)1"- B (-8,4)
(C) ‘(—2,—‘2)..  D) (2,4)

it -The coordinates of the ends of a diameter of a circle are (- 10, 6 ) and

(6,~10). Then the coordinates of its centre are

- A (-8,-8) @B '(—8,4)"
©  (-2,-2) | (D) (2,4)

[1101-(a1/30)] " Page 19 of 48 -
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‘ [110]
4. aﬁ%ﬁw%sﬁﬁ%ﬁ%ﬁu 4, (0, 6 ) (4,-1) 8, @

Brqet & S o fewe &
®  (2,3) ® (3,2)
©  (3,3) LD (2,2)

The coordinates of the vertices of a triangle are (2,4),(0,6)and

(4, = 1). Then the coordinates of centroid of the triangle are '
& (23 (B (3, 2)

@ =9 Ty o (2,2)
4. R (13,19) @x-a-‘mwaﬁﬂqaaﬁwﬁ
A 13 _ o B 19
© 32 e | | D) 6

The length ofrperpendicular from pofnt ( ‘13,. 19) to‘_x—axis is

- 13 B 19

© 32 a5 D 6 _ |
48. ﬁﬁ'ﬁf 6-4)@%6[@%@@3@@%@%

mﬁﬁm%v ¥

&) C ® fdw

(1101 @130 " Page 20t

N
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: [1 10 ]
The mid-point of the line segment Jommg the pomts (-2,8) and

(-6,-4) lies in which quadrant ?
(A) - First 8 (B)' Second

© Third T _(D)" Fourth

ﬂﬁ{P 0, 0) Q(8,0) RTEYR(O 12) WAP@R%@E‘% FﬁAPQRa?r

@ a0 B 48
© 20 D) 4

IfP(O O] Q(8 O)andR(O 12)arevertlcesofanyAPQR then

the area of APQOR i is
@) 40 e "(_13) 48
@ 20 - D 4

Wﬁﬁﬁ%?ﬁﬂﬁﬁ;@ﬁ%ﬁﬁﬁ(o 6),(0 O)Qa(s 0% ar

ﬁﬂ?ﬁ‘?ﬁﬁ#ﬁr%ﬁf
@ 14 | (B 24
C 42 7 R (b) T | FIE T

The coordinates of the vertices of a triangle are (0, 6 ), (0, 0 ) and

(8,0 ). Then the perimeter of the triangle is

(A) 14 (B 24
C) 42 (D) none of these
\ )i '
‘ 1101-(21/30) Page 21 of 48
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83.

(A) a=0

\ﬁ/}_’? | (D)

R . [110]
ﬂﬁ'ﬁ%’R(a,b),ﬁfg’aﬁp(o,O)aﬂTQ(o,.z)ﬁﬁwﬁﬁﬁm
BV VT LT L
) '(-B)- a=2

- ‘(D)I" ﬁﬁﬁﬁ%ﬂ%”r

(C) b=0

If point. R ( @, b)) is on the line ségme_nt jo'ining points P (0, 0) and
0(0, 2) then which of the following is true ?
&) a=0 B) a=2

(©) b=0 - (D)  none of these

| Wi‘@T@fﬁx'?QUﬁ y=—3ﬂmﬁf§%

52.

@) (2,-3) B (-2-3)

© (23) S D (8,-2)

The point of intersection of the straight lines x=2 and y=-3 is

@ (2,-3) B (-2.-3)
(&0 (2,?;) '_ D) (3,-2)
A% tan0=12, A sin 6 FT HT € ,
W B =

|3

1101-(21/30)
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[110 ]

g

(B) % /
(@) % (D). lsz -

4. IR (tan6-+cot9)=6., a taﬁéé+cc;£26 I &
w 25 w2
© 24 _ D) 34 |
3 If (tan’9v+éot9)=6v-‘; then ‘t‘he {rali,lje of taﬁ2_3+cot2 67 is
@) 2'57_‘ -fi(1'3)' o7
@ 24 S D) 84
g secre-titaﬁ8+l'=0, at (secO-tan®) %TW?%
@ 1 . ks B Y
© o . D) 2
If sece+tmé+lib, then the value éf (s.ece—tane) is

4 1 _ B) =~1

(C) 0 | (D) )

It SinG:—z‘/i, @l cosec 0+cot0 T HH &

(A) 2443 B) 2V3
€ V2 \(DL~ V3
\-_ ' ™ w)
oy 1101-21/30) Page 23 of 48
L v \) | =& A ‘
/ ¢ L '), i h‘ _‘_(,_.\ ‘§ ‘b . 5 :r" \S\
\ \/‘ « ‘\ - y\ ‘ 1 ""\ o * 7< l/“_ r}_
Ny RN S Y U R ey
Wk ’ A x -\ -& >
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If sinB:—‘-/-;:é— , then the value of cosec 0+cotO is

w2443 | B 243
© 2 | D JE}
s7. A% J—gtanQG—.3=0l, A o I A &
», ) 15° B 30
@ (C) g N Lo 60°
:If J3 tanée—sso  then the value of 8 will be
(A). 15° | '-.(1I3) - 30° : -
s . 45 (D) 60

ll‘ &5, % sin 0 = cos 6, 0<0 <90°, T QT AFE
@) 30° B) 45°
7 (c) 60° (D) - 90°
ottty ' : P
§ ' . Ifsin®=cos0, 0<0= 90°, then value of 6 is
} (A 30° B) 45
7 ) ‘
. .
’}5 ) 60 (D)  90°
'4in30° + cos45° —tan60® _ .
col30° —sin45°—cos 60° J
@ -1 @) 0
il o o
V-~ N3 [PI0T R0 Page 249
! N\ P o e
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50. tan30° Sin309 cgt60° cosec30° = : | : | | |
W B B B |

1 : ;e . AR 7\;\337& g
= 2/3 (D)S %S’;/\y
cos60°+1 L ' o : ; i g o Y
cos 60°-1 B - e, ) ERAR : kg _\ %;v ,
a) 2 e ® -2 A br\’;/ <
c 3 s i D). = -3 \//\/ ¥
| o)

BiE %—12" al 3cosec AEHTT{W'EWTT : e
oy = ERRPS B LAY TR
' B By S

© 4 @D 4B
If ~A=126-, then the value of 3cosec’ A will be e wy L)
AR MR % Bl »
2 m 2 = - ~S
A = ) . (B) a o %
| | | 5
< 4 o) 43 W) 5
sin 54° - cos 36° = - ) N -
' B) 1 L Y
5 %
© 2 o) -1 N x/«,/
T \ \
cos 1° cos 2° cos 3° ... cos 907 = | .
, 1 '
1) 0 _ B %

D) V2

SR I
- _ ,Pag3250f48
v TPt

s
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2 N \f,/ > 3
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~ cos37° cot34° . ;
65.  emr treees AN,

@ o

g2 o -1

!

o c0s37° cot34° |
. Thevalueof o eaw +2anEee i° |

@  0 /"

B 1
© 2

O -1
| 66.  2(sin45°—cos45°) =

LW S ® 1.

R (< W D) -2 O
67.  Tcosec?0-Tcot20 HHE E
@Ay - 1. ® 7
L D o
- The value of 7cosec?0-7'cot? 9 is .
@ 1 ® 7
© 49 D) o
ﬂﬁsin48°=p,?ﬁtan48"wm7{%
_p R J1-p?
B —L2_ ®) p
e 1- p2- _ p
2
(C] p (D) 1+p
1+ p? p
! '1101-(21/35\ Page 26
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| | [110]
If sin 48° = p , then the value of tan 48° is

P 1-p?
(A) B VTP
l—~p2 (B) p - \
. 1/ 1ff-p2 , P
qﬁtan275tan63°é,sinA,ﬁ:fA'aﬂm% ;
@ 272 . B 63
(C  90° 4k D 36

If tan 27° tan 63° = sin A, then the value of A is
@A 27  (B) 63°

© 9° D 36

sin® (90°-0) +sin?0
cosec? (90°—0)-tan>0

AL B) O
€ 2 O) -1
(1-sin?0)=
() cos?0(1+sin?0) - (B) cosi’e(l—singe)

(C) cos?0(1 - cos?0) (D) sin? 0(1 +sin?0)
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AABC T X, YFHRT: oG AB 3R AC W & g & WM XY || BC 12

AX: XB=2:3,@ AY: YCI AF &1

@) 3:2 om 2:3

C 1:3 S (D)~ 3:1 '

In AABC, X Y are two pomts on sides AB and AC respecuvely a

XY | BC.If AX: XB= 2 : 3, then the value of AY: YCis
(A) 3:2 . (B 2:3
© 1:3.. ~ D 3:1

< e Bt % gl F1 S 121 ¢ 64 8, A S T A

T S E 3 -
\_)A)/’l‘l8 | L (B) 8:11
© 121:64 - . (@O 12:91

The ratio of the areas of two 31m11ar tmangles are 121 : 64. Then

~ratio of their correspondmg mechans is
(A 11:8 (B) 8:11

C 121:64 D 12:91

ﬁwﬁ%ﬁ‘r%wﬁmqm 300m3ﬁT20cm%lq&'Ww
T T 18 om @, T G B %) iy o < et

(A) 10 cm (B) 8 cm
(C] 9 cm (D) 12 cm
1101-(21/30) page 28/
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The perimeters of two similar triangles are 30 cm and 20 cm

respectively. If the length of one side of first tria_ﬁgie is 18 cm then the -

length of corresponding side of second triangle is
() 10em .- (B 8cm

© 9em o, p) 12em

D,

Wwﬁwaﬂm_aéﬁcm? 2, ﬂ#sﬂaﬁﬁw% 3

(A) © 6 cm -_ T ) (B) 3J§ cm : |

(C) 12cm | i (D) J§cm ,

The area of an equﬂatéral tr-‘iangle 1s 36J§ cm‘2 . Then its side is”
@ 6em B 3J§cr-n

.(C) - 12 cm - (D) chm‘

3 gt g @ SRS wﬁ@aﬁaﬁmmﬁﬁﬁ% ?

@ 4 B2

c 1 o D) 3

(A) 4 (B) 2

c) 1 (D) 3
o LP( m01~(21/30) Page 29 of 48
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The perimeters of two similar triarigles are 30 cm’ and 20 cm

respectively. If the leﬁgth of one side of first triaﬁgie is 18 cm then the = -
lén‘gth of corresponding side of second triangle is
. (A) 10cm . ' (B) 8 cm |

(©) 9cm : "(D,) | 12 cm

5.. U leg Bt T 8ol 363 cm? ¥, T THR & &

(A)© 6cm | (B) 3.,/5 cm o

(€ 12cm D) Bem

The area of an equilateral triangle is 3643 cm?. Then its sideis’
(4 6em . .‘ "'(B)' 3‘J§c§1
© . o cm o Bem
2 s e o vl et 7w el Ay 2
N Y S
o 3

c 1

A : i ircles is
The number of common tangents of two intersecting CIre

B 2

e C e e e R R R T el 4
Scanned with CamScanner



78.

" (© 25cm o (D)

| S g

Qﬂcm%lﬁOﬁWE%,FﬁOPaﬂmaﬂT@Tﬁ ?

(A) 30cm ' (B)  28cm
18 cm
A circle is of radius 7 cm. From an:external point P length of tangél

PTis 24 cm. If O is the centre of the circle, then what is the length
oP?

(A)I‘ 30 cm S A .- (B) 28cm

© 25ecm - D) 18 cm

mmmp@wm@ﬁn@wmwﬁmmma

P

@ 84em B) S5lcm
.(C) 17 em, (D) % cm

‘From an external point P, length of one tangent drawn on a cird

17 cm. Then the length of other tangent drawn from P to the s
circle is | A

W e 5 siem
€  17cm 17
D L1
O L em
Ll 101-21/30) Page 30
L
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zri‘ﬁmﬂ”rﬁwaﬁ%%”meWMﬁ@ﬁrﬁ arde

(A) 140 1t @ﬁ"r' e - (B)’ - isba*‘r’@?ﬂ_
© ié_saﬁ@n“r R D) | 200 & JAt

If the area of “minor sector of a. circle with _radms 7 cm is
14 square cm, then the area of major sector is

(4) 140 square cm (B) 150 square cm
(€) 125 square cm D) 200-square cm .

WWWWMMmZ% a’rwm%

M cm Ly (B) 28cm
€ 7cm ' : (D) 2lcm
The area of a circle is 154 cm?2. Then'its diameter is

(4) /14 cm- (B) 28cm

€) 7cm (D) 2lcm

e e oy 8 o 35 s @ 2 e A T A

4) 107 (B) '35#‘r

© o2t | D) 407
B 1101-(a1/30)] Page 31 of 48
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| [ 119
If the radius of a wheel is %i— _n-1etre‘ then the distance covered i
2 revolutions is
@A) 10m | B) 35m
© 22m D) 4om

82. TR ®= O iR fm raﬁqaﬁ LAOB <6, T = AB = W

T Y
. E 2 : b
nr-o : . mr@
W 180 e ) ﬁ 360
nrd ' U 2o
\ © 18 O 360
-
= : ‘.
If O is the centre and ris the radius of a circle and ZAOB =8, the
the length of arc ABis equal to .
2 L
nr<o _ nr 0
W T80 B 360
~ wré | ' T
©" 18 - D). 350
81-:5. TH 8 cm oGl & 3 Mot § 1cmﬁ@T%ﬁﬁﬁBﬁFTﬁﬁW
| o T ?
i
E (A) 256 B 512
{
(C) 1024 D) 576

|1101-(21/30)l
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sphere of radius 8 cm ?
(A) -~ 256

(C) 1024

(B) 512

(D) 576

84. W?@%WWWIOcmﬁTwmmcm% Fﬁt"@w

ama?%
| @A) 4007 cm?

(G 1007 cm®

(B) 3007 cm®

(D) 2007 cm®

The base diameter of a cone is 10 cm and its height is 12 cm. Then

the volume of cone is

(A 4007 cm? -

(C) 1007 cm3 .

35. W%%Wﬁ%ﬁm4cm3ﬂ?mﬁm3cm%|qﬁw l ) EX

(D) 2007 cm®

ﬁaﬁ%locmﬁ,a’raﬁmww

(4) 120 cm®

(C) 440 cm®

L(} 220 cm?

(D) 1540 cm®

(B} = 3007 cm®

‘The external radius of a metallic pipe is 4 cm and its internal radius

is 3 cm, If its lcngth is 10 cm, then the volume of metal is

(A) 120 cm® B) 220 cm®
(C) 440 cm® (D) 1540 cm®
\ N
[1 101-(21/30], ~ Page 33 of‘48
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e e 1 o S 1 S 2 7, e 9 o B

“The areas of bases of a cone and a cylinder are equal and :

“curved surface areas are also equal. If the height of the cylinde
(A) 2 metre - ol (B) 3 metre

i ol T 7 ST 125 em® &, W I % T T F o

-

B
‘i

(&) 2 e | @/ 8T i

© a4de D) 5HR

2 metre then the slant height of the cone is’

/|

'(C] 4 rﬁetre ' : ‘ (D) 5 metre

(A)‘.'. 1J§ RO B 5:43 |
© 25: 3 | D) 15:43 .

If the volume of a cube is 125 cmi® then the ratio of the side of

and diagonal of the cube is

a) 1:43 NI B 5:43

© 25:43 . D) 15:43
110 1-(21/3<ﬂ : Page
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Scanned with CamScanner



| [110]
gs. A fHHl STETTt & WYl G o1 &hed 462 cm? &, T ST =W G

| \JA)/ 7cm ‘ (B) l4cm
(C) - 21 cm '- . (D) 22cm

o . . 2 .
If the total surface area of a hemisphere is 462 cm® then its

diameter is . s o
I . < o Y
(A)  7cm B) 14cm 3 //3753’/;2\
. ', v "
(© 21cm D) 22cm A7 _ B
| | | AT K
39, T ol WY el W U 2 : 3 € TS I Hergdl Sl A _
. ) | | | acz
. . . ’}/ —
5: 38Tl I AT HT A G : @C";}'Le/r)
(&) 27:20 | -~ (B) 20:27 v g

y)/ci:gf e D) 9:4 | /@
The radii of two cylinders are in the ratio 2 : 3 and their heights are

in the ratio 5 : 3. Then the ratio of their volumes is
(A  27:20 : : B 20:27
€ 4:9 (D) 9:4

0. Hﬁ%{ﬂ?ﬂﬁﬁﬁ@jﬂ?ﬁ%’rﬂﬁ%aﬁmwﬁm

(A) 3 (B) 67T
ACT 9T . (D) 27
\h
1101-(21/30) | Page 35 of 48
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of a sphére becomes 3 tume

[ 1
s then its VOlume will becu
If the radius |
(A) 3 times ,(B) 6 times
(C) 9 times - (D) 27 times~

mﬁaﬁﬁﬁTﬁﬂﬁﬁﬁﬁansr% SH%*qﬁﬁﬁﬁéﬁﬁ

91.

(A)  3ar +3r " (B) 3nr +6r‘

(©  3ar+9r (D) 3mr

The perimeter of a semicircle whose radius is 3ris
. .\‘ . ’

(A)  3mr+3r (B 3rr+6r

©) '.‘li")-nr cor D) 3w

92, 'ﬁﬂiﬁfi@ﬁﬁ@ﬁ?—ﬁﬁ@fﬁumﬁHt?qudr:rﬁ%’rm%?
N -
(©) N T8% 7 ek .(D.] = |

- Which of the following numbers is not the probability of any event
@ o7 . (B 25

C) - % bR . 1
(€ 75/  o D 5

93, aﬁ{mEﬁwaﬂE’%a’r ﬁmi%{f@aﬁﬁﬁ?—maﬁﬁ

\

(A) P(E)=P(E’) R B) P(E.)+P(E/)=O
~_(Q— P(B)+ P(E')=1 D) FTHIARE T
' G-
1101-(21/30) Page 36'

Scanned with CamScanner



- [110]

If E/ is tir;e, cor‘nple.n.m-entary event of an event E then which of the
following is trq‘e L) | _
4)  P(E) =’P(E.’j" ! . B PB4 P(E/)=0
(©) 3 P(Ev) + P(E./)=l T (D) Noﬁé of fhese
o TR S 2 7 O R = E 2

94,

s 1
a o B %

o)

SIS

: )
© g . |
In throwing a die one time what is the probability of not

appearing 2 ? .

@ o /(B %
@ = o 3

95, Tl A& %o MU 52 AT i Uk TR H W AGTDAT TH qdl @ral T
Wmﬁ%wm.ﬁmﬁw.w%?

1 | 1
W 13 26 |
(©) 3% | D) T ®E

A card is drawn at random from a well-shuffled deck of 52 cards.

What is the probabilify of getting a black king ?

a) L L
) K B) g
c 2 . > of
\) 35 (D)  none of these
| 1101-(21/30) Page 37 of 48
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98.

% 24, 27, 28, 31, 3

(B) | A - e = 3 (AT + TEA) e

' - g
4. x. 37, 40, 42, 45, 50 T HIEAE 358, @ 13

e
(&) 35 L B 36
(C) 34-5 : : ' (D) 355

If the median of 24, '27.,' 08, 31, 34, x, 37, 40, 42, 45, 50 is 35, the

the value of xis
@A 3% . (B) 36
(C) 345 : (D) 355

i e e e s fron o A 7

a) "= LB AfEEmT
(@) g D) AR R

The cumulative frequency table is useful in the determination of tf|
~ following ?

(A) Mean | (B) Median

(C) - "Mode he .~ (D) None of these

(A) - ‘m—qgmw - 3 (e — AR

(C) A - wgel = 3 (ST ~ e

D) T - o

- ll 101—{21/3ﬂ Page 38 ol
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99.

100,

C 3 // |
\ ‘ . PagC 39 of 48 .
_ 1101-(21/30) |

[110]

Which relationship is true for Mean, Medién and Mode ?

(A)  Mean - Mode =3 (Mean - Median ) .
(B) Mean - Mode =3 (Mean + Median )
(C) Mean-Mode =3 (Mode - Median )"
(D)  None of these R

Fefoay frrer o agere ot 1 7 2

Ryl T 0-10 | 10-20 | 20-30 [ 30-40 | 40-50
 IRERAr 15 20 45 15 25
| e | |
(A)  10-20 | - \_(B)—20-30 |
(C) 40 - 50 D) T AW
In the following distribution what is the modal class'? g i
’ : ; |
Class | 0-10 10-20 20-30 30-40 | 40-50 '
Frequency | 15 20 45 15 | 25
(A) 10-20 | - (B 20-30 !
(© 40 -50 (D)  none of these

A x+ 2, 2x + 3, 4x + 5 T 5x+ 2 I AA 18 ¥, F x 1AM B

B 6

(D) 15
s 18 then the value

If the mean of x + 2, 2x+3,4x+5and5x+2i

of x is
B) 6

D) 15

iR

i

A

-
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